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Wages and Social Security Legislations
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Time : 3 Hours ] [ Max. Marks :- 100

Note:

fAder :

Note:

ﬁ'é?T :

The question paper is divided into three sections A, B and C.
Write answers as per given instructions.
g UeA-uF ‘37, ‘¥ IR ' A @uel H favad gl uAD
Gug & MEATTAR Ul T IR ST

Section - A 10 X2=20
(Very Short Answer Questions)
Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum upto 30 words. Each question carries 2 marks.
gus - ‘37
(3fer ofg IR TeT)
ot UeAl & IR QITTI 3T ITR Pl YEATIAR T 916G, Th
a1 3Tferpad 30 9reql ad aRAIT HITTI e geT 2
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Note:

fAder: frgl TR Ul & IR SINITI 30 TR BT 3ffIpad 200
&gl o uRAIAT HITT| gdd ueT 10 (S9) 31D 3l gl

(i) Insurance

(i) D.A.

(iii) Deductions

(iv) Social Assistance
(v) Social Justice
(vi) Wages

(vii) Work man

(viii) Employer

(ix) Dependents

(x) Industry
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Section - B

(Short Answer Questions)

Answer any four questions. Each answer should not
exceed 200 words. Each question carries 10 marks.

(@vs - 9)

(oTg TR U9A)

What is ‘Standardisation of wages’? Explain.
HTGRT T FHIDPRUI T ¢ ? SITREAT DI

Differentiate between living wages and fair wages.

fFrafe Foret vd S #eigyt o w5 ST
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Utility of social security legislation. Explain.

AT GRE fIamaes Bl STAIRIT 6t e S|

What do you mean ‘Integrated Social Security Scheme’.

"ThIghel AT R&T ST ¥ 1Y 3T A9 &

Criticise the various theories to determination of wages.

Toigdl Fegfur & e Rigrl &t FHTetraT SHIfsTu

Critically examine the main provisions of the Minimum Wages
Act, 1948.

T HIG AT, 1948 & G AL BT FHIATGCHD
TRIeor HIRTY|

Discuss the liability of employer under the Employee Provident
Fund Act, 1952.

FHaR! wfasy [ srfafem, 1952 & i FriNe & g
&6 o= BTl

Explain the main provisions of the Equal Remuneration Act,
1976.
FHE TEe SrfefiEd, 1976 & gwg wifdgr &l fadee
HIfY|

Section-C 2%xX20=40
(Long Answer Questions)

Note: Answer any two questions. You have to delimit your

answer upto 500 words. Each question carries 20 marks.
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fAder : fhgl QA Ul & IR YN 30 IR DI 500 H R
HITI TRH U 20 (F¥) 31w 31 2l

10) Explain the concept of ‘National Wages Policy’.

MG AT AT & AR DT e ST

11) What do you understand by ‘During the course of employment’?
Comment with the help of decided cases.
TRISH & T B W g a1 Jusa 22 Fffg ar &
g | et DIy

12) Discuss the Employees Provident Fund and Miscellaneous
Provisions Act 1952.
FHaR! oY wa fIfdy mrau™ rfdfem, 1952 &t faag
Eﬁll\\_rIQI

13) Write an essay on the payment of Gratuity Act, 1972.
SUCH I ST, 1972 R Udh g HIfT|
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